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COMPARISON

Subroutine D of Moving Average computes the moving average when the (3
key is pressed from the keyboard.
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Generally, the average is calculated based on the summation of input values, 2,
(stored in R,) and the requested number of units, n (stored in Rp) in the moving
average. However, if less than n values have been input, the average must be

calculated based on the current number of inputs (k). The value of k is stored in
Rg. The flowchart for this calculation might look like this:
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Subroutine D begins by recalling the sum from Ry, k from Rg and n from Ry,.
After these recalls the operational stack is as follows:

Unknown value T
Sum Z
k Y
n X

The comparison step x =<y (if x is less than or equal to y) causes program
execution to skip the next step when the conditions of the comparison are not
met. If the conditions of the comparison are met, the following step is executed.
This is the *“DO if TRUE’’ rule. For instance, ifk =y = 15andn = x =6
the comparison would be true or satisified (since x is less than y) and the next
step, (x exchange y), would be executed. If k were less than 6, say 4, the

command would be skipped. The stack contents for both cases are shown
below:

BEFORE COMPARISON

Unknown value T Unknown value T
Sum Z Sum Z
15 Y 4 Y
6 X 6 X
AFTER COMPARISON AND NEXT STEP
Unknown value T Unknown value T
Sum Z Sum Z
Y 4 i X
?5 } switched X 6 } not switched X

The next step rolls the stack down removing the unwanted value from the
X-register.

15 (Unwanted value) T 6 (Unwanted value) T
Unknown value Z Unknown value V4
Sum Y Sum Y
6 X 4 X

The last step divides the sum by the value in the X-register to complete the
calculation.
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Moving Average

8@:  xLBL.: BRET [
Ber DLRE Clear registers. AS: FTHh
Tk g 55 ®LELA If print mode is off pause
pas  CLRe 0 |- === =] BES Ly for display of n.
eacs 1 If 1< n< 22 continue, BE: Fa~
[1:P koo otherwise go to label 1. [T ETOR
ger ETOi BeZ FEE
pas Ly g4 #lBLlé === | mmemmm e
pac - BEE FCLa Compute average.
e1é 2 Bee PCLED
Bii 4 [ = e —————
p1: wyun #EE ENT* Output and set for display
Biz er |- —=-—- fes Fa<
fl4 STOC E7E PRTE e e ee e enpgenion
g15 i Store n in Rp and (! RTH Write data.
Al1e 7 (n +n/100) in Ry. ETZ xLELE
A7 + g7z WiTR
A8 ST01 674 L I N
B1g INT 7S #LBLk
B2g RTN ATE Fe~ Print/pause mode toggle.
2! =«=BLI = | ———_————— ] b7y ET0a
B2z <73 Flash input error. [ 1
23 xLBEL4 E7S SFé
24 PSE pee RTKH
B2z €04 2000 |- BE]1 xLBLG
B2€ &LBLA Increment k by one. Print BEZ a
gz7 Fa~ space, k, and input if flag 0 Re3 CF&
B2E epr is set. agd RIN ] s g
2o RCLE BES xlBLC
8:a i .13 SPC QOutput values in newest
83i + Bev A to oldest order.
a3z Fet AEE  xLBLZ
83z PRTA BeEs RCLD
B34 ey Bae x=vr
[ K] Fa° B3 FTN
82 PETY 000 |- ___ g3z !
37 RCL+ Remove oldest value from B8z u
B3e ST-@ sum and add input. B4 +
B39 g Q% RCLI
p4a £T0: B3¢c X=y7
pgr s 00000 e e 637 FRC
B4z R Store k. ese 57101
#42 Ay EL] I8Z1
w44 STOE et 1ea RCL
B45  RCLD If n<k,GTO 0and ial  PRTH
B4e  x£V7 calculate average. 1e2 rt
b7 GSBE 00 | Ll e ceeeeen 1232 1
#48  DSZI If s not zero, GTO 5 for fad t
B45  CTOS " les etéz | _________
56 RCLI |\ __ i8¢ xLBLD
35‘1_ 1 18: RCLE Compute average at any
95£ @ Reset index for another 162 RE!‘E time.
;5K 1 loop. 183 RCLD
854 X 11€& ReV?
855 st __ ] 111 X
B¢ xLBLY Display gverage or n 112 R
REGISTERS
0 1 2 3 4 5 6 7 8 9
z used used used used used used used used used
S0 S1 S2 S3 S4 S5 S6 S7 S8 59
used used used used used used used used used used
A C D |
used used used n control
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1= = -Za

114 RTH L= e P v

115 RS B

LABELS FLAGS SET STATUS

A B C D E [V
x*""k,"” Avg W DATA VAL —+AVG print FLAGS TRIG DISP
a b L+ d e 1 ON OFF
n pP? o O DEG X FIX ®
0 1 2 3. 4 2 1+ O GRAD O sc O
5used 6error ;)rmt 9error - > 0 ® RAD O ENG O
display i a0 ™ n_2




